639 Manitarr Stand Instruction manual

Exirusion and CNC

® copyright © all rights reserved (VERSION 2.08 Last updated2022 )




Package Includes

4040x 6 /4080 x 8

\
1220mm x 5 420mm x 2 1220mm x 2 610mm x 2 Optional x 2

@
7 @
_ v

M8 x 20mm x 44 M8 x 20mm x 16 x 60
X2

@
7 @
_ v

MS8 x 80 M6 x 8 M8 x 16mmx 16 M8 x 16mm x 4

EX'l‘I‘I.ISiﬁl'I al-ld CNC ® copyright © all rights reserved (VERSION 2.08 Last updated2022 )

N
N



1220mm x 2 610mm x 2

0
—o6{0—C®

=
IR

x 16 4080 x 4 /4040

X2 M8 x 16 M8 x 16mm x
16 x4

0

Exl“-USiﬁl-l al-ld CNC ® copyright © all rights reserved (VERSION 2.08 Last updated2022 )

Pivot Fasteners
Pack

N

W

N



LT FTC

1220mm x 2 M6 x 8 M8 x 12 M8 x 20mm x M8 X16mm x 8 M8 x 20mm x x4
4 4

Pivot Fasteners
Pack and Vesa Pack

4080 x 2

Exl“-USiﬁl-l al-ld CNC ® copyright © all rights reserved (VERSION 2.08 Last updated2022 )

Paj7z



1220mm x 2

x4

' N S

M8 x 20mm x MS8 x 36 X 36 4080 x 4
36

Exl“-USiﬁl-l al-ld CNC ® copyright © all rights reserved (VERSION 2.08 Last updated2022 )

Pivot Fasteners
Pack




o

0 /7 9
© O

0
o

P | 0 00 €

1220mm x 2 X2 X2 M8 X 20mmx 4 M8 X 20mmx 4 M8 X 16mmx 8 M8 x 16

<> Pivot Fasteners
“@rPack and Vesa Pack

ST

/

O
-
O

Extrusion and CNC e copyright © all rights reserved (VERSION 2.08 Last updated2022 )

4080 x 4 / 4040
X2

P6 /7



[EXTRIREN AR
OANIOAITO

O~ 1O VO

If you still have some questions regarding assembly of this product or about the manual itself,
please refer to our support department. They can be reached at

support(@extrusionandcnc.com

whatsapp: +971506580398

Exl“-USiﬁl-l al-ld CNC ® copyright © all rights reserved (VERSION 2.03 Last updated2022 )



	49 STAND 001
	49 STAND 002
	49 STAND 003
	49 STAND 004
	49 STAND 005
	49 STAND 006
	49 STAND 007

